X R 2 1 # g B # = — F 132284 wOW H W o—3
& B BN 7z i #* % HE D 2 1R RERIER S o—7
A = BERESO®ER BEOLERABOYH 1 P =
< T LRAH> 5
B 174 79,687 A - TR A  *HE®EMH 11, 985, 932 T
e R (174E.7124E) 1.6 % * BIEHEALS o5 B OE O A 4 9, 205, 118 1
El22. 3 31 81,086 A "o M B R E 15, 783, 018 £
3 j .
% SRR B 0.1 % b 1,045, 107 +[™
& @3 esFulbAn it <RETHE> 0. 804
#l22. 3. 31 15308 A ™ 73 34 g | TEBoTRESRAS M B 5 B Mpeg ( 0.768)
£ OB @ ¥ i o= o
RENEORR (FRA) TR 2 1R SERL2 OFFE 41 %
s K R Kk 12.4 %
LB A RoB® _ R 1.5 %
29, 865, 199 25, 767, 308|< 2 o>
, & o & & rmressns |2 T R R B K 14.3 %
: B 29, 120, 043 25,191, 521] BEATEIHRAARE lg ® m o x k% 98.7 %
3 BB G 46, 166 75 787 i sl P N 25, 484, 493 M
: 2 - BINMHES BA F L 1T 4 ]
) D © B hEENIL c
- E - ~ 90, 823 b, 285 TS (> LR EmBES) . 1, %gg: ;gg ;T‘Fq
5.7 ERECDRE S HE R *
(C—D} E 654, 333 570, 502 A _+ B _—_ C 29, 876, 719 FH
6.¥ g R X o X & B OB H 132, 344 £/
: F 83, 831 259, 883 " E ¥ % m A
7 7l & 20, 000 £/
: G 53, 972 a1 ® & b ¥ B k%K
8. B Ok K OB # " E H R ¥ K '-""f3| _ {(12.72) %
0 2,416
] aer gy _ o
o B X £ WM B B - il | (17.72) %
1 0 478, 602 £ E A ®RE K oy (5.0 %
R & ERE B X A # H =
10, 103.2  (350.0) %
(F+G+H—1) J 137, 803 A 216, 302 | { )
— [ e g8 ( 22. 4. 1 HE) 5% ) i B ( 22, 4, 18E)
H B K| 4ASRREHE] 1 AEDXEA EREEEE
= a | A A|lex BFm|E B/A A = 3 SERREFA R (EM)A ® M
- & B R 411 141, 740 344, ge6|T 7 #. & 7.9.1 860, 000
5 bk 18 5, 907 328 167[8 W AT # & 7.9.1 740, 000
B W & ¥ A 2 940 470, 000|# L & 7.9.1 695, 000
W OB W B 0 0 0
B OB M A 0 0 0f o % & 7.9.1 510, 000
= # 413 142, 680 345, 472 & 5% & 7.9.1 456, 000
‘ EZERRZE S E28> | B %| [m
s = 2 |& | - & A 7.9.1 433, 000
= ] FH FH A #® 8 ® % ( 21 A}
E® "t 5l
ARG 6, 200 6,186 of ~ [® # ® # ¥ 26,187 A
(% =
{3 | et 39, 994 631, 340 PRI ERERE N LN 153,299 m
B Lo 57. 430 198, 299 3 # BHEBEE L ASLDERBERAER 82,410 M
. .
#| vhasx = 56,793] 1,104,410 o TfE R B E 1 A MY RA 332,720
E=3 4
- o & BB { # ) 1, 989, 250
= & @ i+ = 5, 475, 716 M
® Ple A & @ #® W & 33,909 £M
wieE W B & F X B & % 1,087, 171 @
= (A # W B F M T & & 3,091 FM
 wmom o B oM @ 378, 390 £/

¥ () Hrid, RESEEETHD,




= ﬁ)\m - & " i = i
. G Ty — =W m
S 2o I L I I L s | ® B @ s BN ST RE [ 6
1 % FE % Al % 7/ =FF:1 %
% @ 11,009,710| 36.9] 10,183,414 69.9|~ _®& . B| 4,502, 245 15.5] 4, 041,400] 3,997,661 25.6
5 5 B 197, 648] 0.7 197,648 14| |5 b M B @ 2,872,205| 9.9  2.513,979] 2. 513,970 16.1
EE L 73,557] 0.2 72,557 0.5]% B B 5,538,327 19.0 1,653,232] 1,652,726] 10.6
LR 21,578] 0.1 21,978 0. 1] & Bl 2 649,628] O 1 2,819, 657| 2, 619,667] 16.7
IR AT iRt 4] 9, 336 0,0 9, 336 0.1 7 Fl & % & 2,649,628 9.1 2,619,657 2,619,657} 16.7
B RERENS 509, 349] 2.7 809,340]  5.6| | BEAGAIT 5] 0.0 0 o] 0.0
= e
L .94 .2 8.9 S5 # | 12,690, 2000 43.6] 8,314,289 8 270,044 52.0
B W0 1 85 1 8] 101, 470] 0.3 101,470 0.7 & B 3,741, 469| 12.8| 3,440, 192] 2,079,181 133
T 145,937| 0.5 145,937 LOjE & W & ® 100,342] 0.3 96, 540 55,046] 0.4
W % % ft B 3,426,012] 11.5| 2,836,783] 19.5/@ 8 & 4% 5, 176,789] 17.8] 3,175,649 2,018, 701 13.7
T 7,836, 783|  9.5| 2,836,783 I9.5[M ¥ & 823,791 2.8 BE, 945
%Al 585,229 2.0 BE - OR R 25, 080] 0. 1 157 54| 0.0
TAE AR RS 16,188 0.1 15,188] 0.1 W &  3,218,343] 1L 1 3,049, 075] 2, 118, 634] 13.5
RIS TR 8 0.0 0| 0.0|MEEBRLERAE 0| 0.0 & A~ — & 0F I3 =
~ D 15,879, 188] 53.2| 14,463,654 09.4|% % M ©& B|  3,344,009] 1L5 84, 211
F e - AEB| 1,006,116 3.6 o 0.0 P 5 AEEH 84,511 0.3 82, 262 18, 361, 211 <M
® B B 236, 454] 0.8 75,819] 0.2 FEenRRER 3,344, 009] 11.5 84, 211
E N 301, 020] 1.0 o 0.0 | 508, 408] 2. 1 12, 901 | @ iS5 — B I
B ® % W & 4,086,380 13.7 MW B E 2,745,340 9.4 TML030| o 4 geo v
m E 0 & 4,104,086 13.7 & | [Eo M 280] 0.0 280 P 441,
B 72 W A 87,256] 0.3 5,155] 0.4 RERETER o] 0.0 O |3 © AR IS B
i it & 23, 703 0.1 RSN RR o] 0.0 O |ESRE BOnt SR A AR R
N 916, 137 0.7 5 T 79, 120, 043] 100. 0] 17, 616, 055 |—RMEEITINZ 2184
B B 2 575, 787] L0 DERREER
# R A 178, 665] 0.6 0] 0.0 106.1 %
Hh x | 3,100,507 10.4 /
G BRENTARSES |( 40,000)1(0.1)
(3 bEMMEATER | 1,045, 107)(3.5)
z 7 29, 865, 199] 100, 0| 14, 557, 638] 100.0
&) i3 B ) W ] = ﬁmg -
Eiﬁ 100} A -
& N b - S < i B4 X 75 % N W OR OE |#ERk B R
£ % % FH 1 +m % s
arrims VB B 4,858,002 3L 1] A 7.3| 4,080,577 £ = E 259,580] 0.9 750, 516
N 347,478]  3.2] A 20,7] 823,571 35, 450|8 3 %[ 3,649,899] 12.5| 2, 464, 961
E W B B 4,485,551 40.8] A 4.6] 4,446,410 E = R 0,303,673] 32,0 4,690,881
E 5 § B B 126,105| 1.1 0.7| 126, 588 & & ®  4,922,162| 16.9] 2,317,925
B - i B 362,288]  3.3] A 5.8 359, 147 % [ % 257, 152] 0.9 184, 846
R 7 £ o] 0.0 0.0 E W% A E & B 208,317] 0.7 105, 398
% 5 £ & A B 9] 0.0 0.0 % T ®  1,462,704] 5.0 184, 497
% E A % @ B 0] 0.0 0.0 £ s %] 2,195,890] 7.5] 1,811,310
B 7 B 896,305 7.5 A 0.4 ™ 5 ® 1,101,963 3.8 825, 076
@ a%l 5 0.0  25.0 R 5 B[ 3,100.075] 10.7] 2, 151,988
E £ % 5 0] 0.0 0.0 % B B A R 0| 0.0 0
® w8 m 8 826,300] 7.5 A 0.4 = & ®| 7,640,628] 9.1] 2, 619, 657
% % 5 B B B o] 0.0 0.0 % % 0O & o] 0.0 0
A ¥k & B B ol o0 0.0 MEEBLKE S ol 0.0 0
5 i 11,009, 719] 100 7 3. 0|10, 245, 902 35, 450] & o 79, 120, 043| 100.0| 17, 616, 055
TRLOEL ORI RRANEE 1, 780 Bms | mas|d B
OB B S S B EERr e 1, 231 ™ 78 oy
REERERr A - RE TR AT 320
ﬁ@Wiﬁg%agﬁ%%ﬁ%% 114 % % %
LHiGASE A 110 & 3 . .9 | 95.8
fEASZER A L R i B S B B 95 W A # ## 98.2 29
/R T R TR R AR B R 56 (B F 2B < 982 ) 29.9)|(95.6)
: B3R =2 97. 6 29. 0 94.3
38, 869 A{FITREL/ A H 5 B Gis B Sy 48 R &
Fep v A e B 45
EABE WwEERER 987 31.8 96.7
53 -
1,890 A ERMAHERRE (5) 90.5 23.3 | 77.9




